EARAROBEEIERT — 2 N— IBISH —F

2016568250 (+) 3EER7H

mijﬁ&“—\v L 7S JG3 YSREE3HL (BES) AT [kl & |mEwm - B o) oomm
[A&4] 1 7 29,000,000 § ~ 2 3#&:12,000,000 @ . 3 7 :7,300,000 @ . 4 7&:4,400,000 @ 5 7& :2,900,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S5 . # o5 | AER— 3:26.2 7-7-3-3 | 13.3| — 1 514 | MIEHE—BER (E#)
117112 FoagFagH 62.02( (-) (+4) () Favy>
RAFAT—IE By FYSLIy b RS
. $ # 5 | AIRE 3:26.4 7-7-8-6 | 13.3| — 11 470 | /MRS ()
1 : PEAS R §0.0 (1'1/2) (o) |
LANRTNTGZR B:LT oIS N 455
o8 | AEfE 3:27.2 5-5-5-5 |13.3| — 7 462 | HHET (BR)
31711 #F X 60.0 (5) -8) ?E‘éiﬂ
Ry KYYYRIZR B:¥av/ETRUT =14
I # 5 | R 3:27. 5-5-9-7 |13.3| — 5 504 |EEE#H (FEX)
a1 |TIv>750%- 60.0 () Gay | ) e
L:7A7% B:xH3Fv> FRE%RS
= - o7 | AHEEE 3:27.9 10-10-9-7 | 13.4| — 2 450 | AREEL (EH#)
E=3 TOoeZ= 60.0 (4) o | ® N CERA
XD THANAN B:T77142€5 J—HrTr—LA
5 =5 o4 | FRRRZ 3:28.5 3-2-2-1 [13.4| — 4 506 |MTRE (ER)
6l5l7|EvTNnT>any 60.0 3 1/2) PASE e
R:T7RYAYL—> BYE2—FIILY HE KR
. o) 5 = 4 6 | ERAH 3:28.8 9-7-6-7 | 13.4| — 10 | 482 |HAEE (BR)
715l EaA-EUZ= 60.0 @) 42) | ) LYK
X ThANAN B:EQA-VT1T = 22
i = 3 s 7 | EEFAR 3:29.0 10-10-11-7 | 13.4 | — 6 488 | EMIFERA (i)
8 9 7794 bR—A 60.0 (1 1/4) (o) | BEEA
L:8=/FLLy b BHALZNLY—F e ]
— . HEHE :29. —2-3- . — EEHED (EXR)
9 NEEIFEFE = o6 gt 3(219)2 3-2-3-4 | 13.5 3 422)2 gzt
R:F15>48) B:ax/FvT Ny IETE
. S 7 6 | REEEH 3:29. 12-12-12-12| 13.5 | — 12 | 478 |RBRE (X#)
1wl 2| ®h—tE>NFIZTX i 58.0 (7 E) © | Bl
K24 xv ML B:U5Ly bNCF J—YTr—L
— . N N A& : -13-13- — BKAE (ER)
1" 6l IH—*¥7FILY i 5 o= 3(.12/92.>3 13-13-13-13| 13.5 9 (4_864) e
RN=V7514 B:T7>T1v7 K=l milll 1EZE
= . =i e — A RER : 06— — SREE (EH)
121814l 777 >7TEaT 1 e 60.0 3(/72?:) Fekr 135 1 (i?g) ;@};rg
Z:7A7x BiA-—-brHT— =& (&
N — N REREX :30. -1-1- . — AHREE (EX
13 5 P E ,7 EF4a4 o7 oo 3 (350) 2 1-1-1-2 13.5 8 :?Z) AT
A4 agR—5— B A4 auyey Ex-Tie
= ; # o8 | EARREE 3:36.7 14-14-14-14{13.9 | — 13 | 502 | BEHEM (ER)
14| 8 (13 T—F-tUR 60.0 (&4 4%) 0 /N
L:2=/xLLy b B:Y—EET i cie)
@ 21 L
£y 52.4-39.8
ngraAq L
® I—F—@EBIERL
|S=7r= 5,14(7,10)-(1,11)-(4,12)8(3,9)-2=6-13
23—+ — 5(14,7,10)-(1,11) (4,12,8) (3,9) 2=6=13
== (x5,7)=(10,12)-11(14,8)4(1,3) 9-2=6=13
43—+ — (5,%7)-12-10,11-4(1,14,9,8,3) =2=6=13
[ RN
B R 12 2001 | | 71 K 4-12 2,320 | | # = 3-7 450/ | | =& | 4-11-12 27,550
B B 12 130M4 11-12 690 B E 4-12 8,920 EE 12-4-11 121,550H
4 1,030 4-11 4,660 B H 12-4 12,350
1 370M

ABICOVWTRDTEEERROODE. TR LIV,




